B R IR B

No. |31 i B No. |31 i B
1| & INERR 4 x50m ARL—UL— | 71| B R 200m BAARL—
2 | B INEAR 4 x50m ARL—JL— | 72 | & =X 200m BAARL—
3 | & R 4 x50m ARL—JL— | 713 | B =X 200m BAARL—
4 | B R 4 x50m ARL—UL— | 74 | & — X300/ ARH 50m =)=z
5 | & =X 4 x50m ARL—JL— |75 | B — 30T/ ARH 50m =]::5
6 | B =X 4 x50m ARL—JL— | 76 | & —fE30m Mt 50m =)=z
7 |Bx ES JiSuE 4x50m RBEAFL—UL—| 77 | B —f&30m Mt 50m =)=z
8 | & R 200m =)=z 78| & —h240m 1t 50m BHER
9 | B R 200m BHR 79| B —h240mE 1t 50m BHR
10 | & =X 200m =)=z 80 | & —f&50m Mt 50m BHER
1| B =X 200m BHEf 81 | B —f&50m% Mt 50m =)=z
12 | & | INERAFEELUT 50m  FkE 82 | & — 601t 50m =]:2F
13 | B | NERAFEEUT 50m  FkE 83 | B — 60Tt 50m =]:2F
14 | & | IERSELLLE 50m  FkE 84 | & —fE70m L 50m =]:2F
15 | B | /NERSEAUL 50m  FkE 85 | B —fE70m 50m =]:2F
16 | & R 50m  FEkE 86 | & R 200m  &HikE
17| B R 50m  FEkE 87 | B R 200m  &HikE
18 | & =1 50m  FkE 88 | & =1 200m  &HikE
19 | B =X 50m  FkE 89 | B =X 200m  &HikE
20 | & — R 30/ KiH 50m  FkE 0 | & | INERAFEERT 50m =]:2F
21 | B — 30K 50m  FkE 91 | B | INERAFEEUT 50m =]:2F
2 | & — &30t 50m  FEkE 92 | & | INERSELERE 50m =]:2F
23| 5B — &30t 50m  FkE 93 | B | /INERSEAUL 50m =]:2F
24 | & —R40mA 50m  FikE 9 | & R 50m =]:2F
25 | B — 4081 50m  FkE 95 | B R 50m =]:2F
26 | & —HR50m% 1% 50m  FkE 9% | & =1 50m =]:2F
27 | B —HR50m% 1% 50m  FkE 97 | B =X 50m =]:2F
28 | & — 601t 50m  FEkE 98 | & | /INERSEH£ELIE 100m FEKE
29 | B — 60T 50m  FEkE 99 | B INERSEELIE 100m  FEEE
30 | & —fE70m L 50m  FkE 100 | % R 100m  FkE
31| B —fE70m L 50m  FkE 101 | B R 100m  Fk&E
32 | & | IMEREEH£LLE 100m  HikE 102 | & =1 100m  Fk&E
33| B | /MERSE£LE 100m HikE 103| B =X 100m  Fk&E
34 | & R 100m  &Hik&E 104 | & | INBRAFEERT 50m  &HikE
35| B R 100m  &Hik&E 105 B | INERAEEUT 50m  &HikE
36 | & =1 100m  &Hik&E 106 | & | /INERSELERE 50m  HikFE
37| B =X 100m  &Hik&E 107 B | /MERSEEUL 50m  HikFE
38 | K| INERAFEERT 50m  /N2T5A 108 | & R 50m  &HikFE
39 | B | MERAFEEUT 50m  /N2TS5A 109 | B R 50m  &HikFE
40 | & | IMNERSEEULE 50m  /N2T5A 10| & =1 50m  &HikFE
4 | B | IMERSEELE 50m  /N2T5A 11| B =X 50m  HikFE
42| & R 50m INETSA 12| & | IMNERSELELLE  100m INBTSA
43| B R 50m INETSA 13| B | /IMEREELELLE 100m INBTSA
4 | & =X 50m INRTSA 14| & R 100m INBTSA
45 | B Stk 50m /B T54 15| B8 iR 100m  \8I54
46 | & — 30K 50m INRTSA 116 | & =X 100m INBTSA
47 | B — &30 K 50m INBTSA 17| B =X 100m INBTSA
48 | & —f30m MR 50m /2754 18| & —RE30mR i 50m  &HikFE
49 | B — 30K 50m  /N2T5A 19| B — 30K 50m  &HikFE
50 | & —fg40m R 50m NS4 120 | & — &30 50m EikE
51 | B —fg40mR 50m NS4 121 B — &30 50m EikE
52 | & — AR50 A 50m NS4 122 | & —fR40mA 50m EikE
53 | B — AR50 A 50m NS4 123 | B —fR40mAR 50m EikE
54 | & —fE60m M 50m NS4 124 | & — AR50 50m EikE
55 | B —fE60m M 50m NS4 125| B — AR50 M 50m EikE
56 | & —fR70m LI E 50m INRTSA 126 | & —fR60mE M 50m EikE
57 | B —fR70m LI E 50m INRTSA 127| B —fR60mE M 50m EikE
58 | & | /INERSEALE  100m =]:2F 128| & —fE70m L 50m  &HikFE
59 | B | /INERSEALE  100m B 129| B —fE70m L 50m  HikFE
60 | & rhEedk 100m HAR 130 | & PR 200m  FEHE
61 | B R 100m B 131 B R 200m  FEkE
62 | & =1 100m =]:2F 132 | & =1 200m  FEkE
63 | B =X 100m B 133| B =X 200m  FEkE
64 | & R 200m INETSA 134 |B % EEmMHR 4x50m E&IY—-IL—
65 | B R 200m INETSA 135 | & R 4 x50m J1—L—
66 | & =X 200m INRTSA 136 | B R 4 x50m J1—L—
67 | B =X 200m INETSA 137 | & =X 4 x50m 71y—L—
68 | & | IMERSEEULE 200m BAARL— 138 | B =X 4 x50m 71y—L—
69 | B | /MNERSEE£ELLE 200m BAARL— 139 | & INEAR 4 x50m 21)—=)L—
70 | & R 200m BAARL— 140 | B IV 4 x50m J1)—)L—




